del = 0.0001;
t = 0:del:1;
y = sin(2*pi*330*t);
sound(y,1/del);
% Musical Note E
y = sin(2*pi*330*t);
sound(y,1/del);
%Musical Note E
y = sin(2*pi*330*t);
sound(y,1/del);
%Musical Note E
y = sin(2*pi*396*t);
sound(y,1/del);
%Musical Note G
y = sin(2*pi*264*t);
sound(y,1/del);
%Musical Note C
y = sin(2*pi*330*t);
sound(y,1/del);
%Musical Note E
y = sin(2*pi*396*t);
sound(y,1/del);
%Musical Note G
y = sin(2*pi*264*t);
sound(y,1/del);
%Musical Note C
y = sin(2*pi*198*t);
sound(y,1/del);
%Musical Note GLower
y = sin(2*pi*165*t);
sound(y,1/del);
%Musical Note Elower
y = sin(2*pi*220*t);
sound(y,1/del);
%Musical Note ALower
y = sin(2*pi*247.5*t);
sound(y,1/del);
%Musical Note BLower
y = sin(2*pi*233.8*t);
sound(y,1/del);
%Musical Note ASharp-lower
y = sin(2*pi*220*t);
sound(y,1/del);
%Musical Note ALower
